Electronics Il, Spring 2016 Exam?2 Solution 2016/4/22

#1
(a) Tj.max _Tamb = PT (‘9 +6

120-25=P.(1.5+2.8+0.6)= P, =19.39 W

case—snk )

dev—case snk—amb + 9

(b) T.., =25+(19.39(0.6+2.8)=90.9°C
(¢) T,, =25+(19.39)2.8)=79.3°C

#2
(@) Vegg =6=Vee —IcoR, =12-1,(1)= I, =6 mA
Py =I.oVer, =(6)6)=36 mW
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(iii) £, =36-10.1=259 mW

#3

8
(@) For v, =8 V. i =——=032 A
I =(02)0.32)= 64 mA
Ing =K(Ves —Viy )

3 | ~+ )2 VBB - T

64 =250(gs —1.2) = Vg =—>=1706 V

Then Vg =3.412 V

#4

See textbook P642-643



#5
We have the general relation that
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#6
See textbook
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